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< INSTRUCTIONS :
All questions in the Test are multiple choice questions.

Each question carries one mark, with four alternatives out of which one answer is
vorrect.

There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appropriate space against the number corresponding to
the question while answenng on the OMR Response Sheet. :

Marking more than one response shall be treated as wrong response.

Mark your cespomse by cempletely darkening the relevant oval. The Mark should be
dark and the oval should be completely filled.

Use of calculator, Mobile is strictly proh:b:ted and use of these shall lead to
disqualification.

The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after
completion of Test.

The question paper wﬂl be both in English & Punjlbi. In case of any doubt, English
version will be taken as final.
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1.  The capital of a non-profit organization is generally known as :

(a) Equity ' (b) Accumulated Funds
(¢) Cash Fund | - (d) Financial Reserve -
d5-w3 HrEr & Yt vmise 3 To@H Y
(a) feafedt | () Ffes33
(c) AWET d) feftgsa

2. Which one of the following is a method of Goodwill Evaluanon ? ,
(a) Average Capital Method (b) Super- Capital Method
() Capital- Intensity Method (d) Super- Profit Method
o+ fefant 143 faadt ity & it fedt 3 2
(@) nwA3UHfedt - (b)  BuI-UH fedt
(9 Y yass fedt | @) pus-os fedt

3. Gamer Vs Murray rule applies in case of :
(a) Admission of a partner ' (b) Retirement of a partner

(c) Deathofa parther (d) Dissolution of a firm |

Garner Vs Murray fso fer afaft g wg Jor 9 ¢
(a) FTETHITUH TS (b) IFETH L AT WIS 9= 3
() SERBEAITZ3I (d sHTfaursdzs

4. BPO Stands for :
(a) Business Process Outsourcing (b) Business Process Output
(c) Business Privileges Outsourcmg (d) Business Privileges Output
BPO T g2 I -
(a) Business Process Outsourcing (b) Business Process Output
(c) Business Privileges Outsourcing | (d) Business Privileges Output

§.  The industries which provide support service to other industries are known as:

(a) Primary industries (b) Secondary industries
(¢) Commercial industries. _ (d) Tertiary industries
(a) ¥eB geGa ) J= gevE

(c) TuIR Gt (d) ZInst Gevar
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Whlch of the following is a definition of Multmatlonal Enterpnse ?

(8 A company headquartered in one country, but, having operations in other countries.
(b) A company operating in emerging economies.

(¢) A company employing foreign nationals.

(d) None of the above

wﬁmﬁvmﬁw—mﬁ%ﬁuﬁ@wa ?

(a) ¥ Ut framer Isamdzs e e g Jod wan e dw feg de os
(b) It migufezra=t 9 v Faet Judt

(c) feort saifoat § otH 3 Fuelt st

@ SWssIATA

An outsourcer :

(@) Is always located in a foreign country.

(b} Generates its revenue by producing for another company.
(¢)  Provides recycling capabilities to the organization.

(d) Only produces standardized parts.

f&x Frad dH JI5 TH

(a) aﬂwma@%ﬂﬁaa@%

(b) gﬂa‘rauﬁsérgmaaanmﬁﬁmm%

(c) FAE § HIRTS Yl GIR YEs o9 J
(d fnaaﬁ-wérwgmawé

Expanded form of IRDA is :

(@) Insurance Regulatory and Development Authonty
(b) Insurance Reforms Development Authority

(c) Insurance Restructure Development Act

(d) Indian Re-insurance Development Authority
IRDA & feRfg3 qu 3 :

(a) Insurance Regulatory and Development Authority
(b) Insurance Reforms Development Authority

(¢) Insurance Restructure Development Act

(d) Indian Re-insurance Development Authority

Which of the following Public Sector companies provides insurance cover to exporters ?
(@ ECGC () NABARD (c) SIDBI (d) -IRDA

(@ ECGC () NABARD (c) SIDBI @) IRDA
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10. Reconstruction of a sick public sector unit is taken up by
(a) MOFA () MOU () BIFR (d) NRP
g Ageod 839 feardingt o yag-fsawrs a3 famr :
(8 MOFAEMT (b)) MOUTWT () BIFREWT  (d) NRPnma

11. Disinvestment of PSEs implies :
(a) Sale of equity shares to private sector/ public
(b) Closing down
(¢) Investing in new areas
(d) Buying shares

PSEs ® fefsdm 3 ge 9

() feafedt et & fort ga/mesr § feast
® deTEm

(¢) &< u3T 39 foem 9

(d) =P udies

12. IFRS stands for :
(a) Indian Financial Reporting Standards
(b} Indian Financial Reporting System
(c) International Financial Reporting Standards
(d) International Financial Reporting System
IFRS 8= 3
(a) Indian Financial Reporting Standards
(b) Indian Financial Reporting System
(c) International Financial Reporting Standards
(d) International Financial Reporting System
13. What is mortgage ?
(a) A security created on immovable property for a deposit received by the bank.
(b) A security created on immovable property for a loan given by the bank.
(c) A security created on movable property for a deposit received by the bank.

(d) A security created on movable property for a loan given by the bank.
g Jusr ot I 7

(a) %mmﬂmﬂsﬁm%‘%ﬁ?ﬁam
(b) I oI I3 AE B & B nis Audt I IS
(©) T oo YU Umft #Et o Fugt 3 At |
(@) I o 3 A @B Bs &5t 9% Aust 3 st
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14,

15.

16.

17.

18.

19.

Milton Friedman said that there is only one social responsibility’ for a company to use its

resources for
(a) Give as much to charitable causes as possible
(b) Ensure Employment

(¢) Increase profits as long as it remains within the rules of the game

(d) Provide good facilities for the workers

fimses dshs 3 faar /it f R st oot fom At & Y oo firoe B e

ARt 9 . '
(a) & g &t frigr AT § Al ¥

(b) Svarg GAET FEEE

(c) 7% 3a feg 83 2 fomr witdis 3f5S D, wg wu@d

(d) FIHTEIT HET T AgSST YT F9E

Management of social responsibilities includes all of the following except

(a) Economic (b) Caretaker - (c) Legal

(d) Ethical

(@) noER b) fooes (c) T3ar

@ 3afsz

Mechanism to protect private networks from an external cyber-attack is

(a) Firewall (b) Digital signature {c) Anti-virus
18+t de<aat § wodt ArEtEg aHfen 3 se@T BT tizT D -
(a) <foge® (b) fsilies TAs™T () WA TfEan
Which type of advertisement appears on a web-page ?

(a) Pop-upad (b) Pop-underad (c) Banner-ad
2" U9 3 fan yara o ferfsa yrss der d ,

() UU-nUME () UU-MSIAE () I AT

The Environment (Protection) Act was enacted in the year

(a) 1986 (b) 1992 (c) 1984
TITTS (Haftmrr) wiae for Ag uR 3o /it
(a) 1986 (b) 1992 () 1984
World Environment Day is celebrated on:
(a) December 1 ®) June$s {(c) November5
fer= s3=gs foer Herfonr mier &
@ 1ffe g @ 5§  (© swE
5

(d) Formatting

@) <Rféa

(d) Discount ad

@) fsrar@z s
d 1974

(d 1974

- (d) August 10

(d 10m@As §
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20. What is the purpose of a *balanced score — card’ ?
‘ (@) To combine a range of qualitative and quantitative indicators of perfonnam:e
(b) To relate business performance to customer satisfaction.
(c) To measure contribution of people to business growth.
(d) To relate business performance to financial measures.
fox A3fH3 Fo9-a9s T ot KT O |

(@) W%%@awn@wm?mm '
(b) =Ud T YIRS § GUIIST AIRST IS AT
(c) =uW ¥ fear 20 & ¥ WORTS & HU S
(d) <ud 2 yYEIRs § &2 Mnfenit o AaaT
21. Whatis COPRA? -
(a) Consumer Operating Protection Regulanon Authority.
(b) Consumer Protection Act.
- (¢) Consumer Protection Authority.
(d) All of the above:
COPRA G T 7
(@) Consumer Operating Protection Regulation Authority.
(b) Consumer Protection Act. _ _ o LT
(c) Consumer Protectlon Authonty -
() SP¥a3 AT |
22.  Marine Insurance may cover loss or damage to the
(@) Ship . ' ' (b) Cargo
(c) Any other subject of marine adventure  (d) All of these -
Ndtw ghrr, Tdt At 5aAS § FLI FIT I --
(8 #IW3E (b) THATHSZ
©) mméhrfm{%faﬁafeﬁ?; ) Buda3s A9
23.  Which of the following is sequentlal model used to explain how advertising works ?
(@ ADD - i(b) AIDA () PESTLE (d) SWOT

AT TE T IS HEB Y 7 . -
(@ ADD (b) AIDA (c) PESTLE (d SWOT

24, What is the monetary limit to file a complaint for compensation before the National
Commission under Consumer Protection Act, 1986

(@ Upto25lakh (b)) Upto50lakh (c) Upto75lakh  (d) Morethan 1 crore
GuEarsT Haftmr mide, 1986%»@3%%%@%8&@&%@
aae*@aw—rﬁ:aﬁwsﬁ?r

(@) 253y 3 (b) 50 3y 3 (© 715%u3x (d) frragTen
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25,

26.

27.

28.

29.

A person aggrieved by an order made by Natlonal Commission can appeal against such
order to the:

(a) District court . (b) High court

(c) Supreme court | (d) None of the above

THEST riia org S IR gaH parar WiEs feniast wifnd ge fedu fand muits a9
Aaer J |

(a) frigr nies3 ®) €unes3
(c) FIGUneE®s @) Sudas Tt &
‘Which of the following is relevant with respect to commercial bank ?
(a) Non- performing assets - (b) Debit card
(c) Home loans (d) All of these

- st Rt e fromr =uree e am ARSI Y ¢
(a) dI-uIerahiar mrRe . ) 3Bfieaas
(©) wWFSs @ GW€sEAY
Trial balance is prepared to check: :
(a) Equality of all assets and liabilities (b) Arithmetic accuracy of accounting
(c)  Valuation of closing account (d) Al types of errors

2fes B8R ford wig 98 ot wefonr Aer
(8) At Fudhott i3 BEerdiot & AHET (b)  Burardt & afEfsa rdeT

(c) TBMA ¥ T HSAE g (d) T YAT Seit Ignrt
Some assets easily oonverﬁble into cash are called |

(8) Liquid Assets | B (b) Current assets

(c) Fixed assets (d) Floating assets

8 Austnt nirdt &S an f&o ufeeafss I Os, ao@ent 5 ¢

(a) Tfes Audbat (b) T Audnit

(c) wiEag Rubst (d) STt AuSht

The reward a businessman gets for bearing the risks is called: .

(8) Remuneration (b) ~ Commission (c) Bonus (d) Profit
feans firo fa féa Gevione H#find Afoz aed yrus e 3 aa@e O;

(a) fHOSI™ (b)) afims © _ﬁ'sn @ =3
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31.

32.

330

Construction industry belongs to

(a) Primary sector ' (b) Secondary sector
(c) Tertiary sector : (d) None of these
fagHz Gevar AU 3 :
(a) VB3I &% ) FHAzuzaws
(c) IRt EUST T . (d) feoxt feg ot &t
In a co-operative society, the principle followed is:
(a) One share one vote (b) One person one vote
(c) Multiple votes _ : (d) No vote
fea Afgarst Anst R fem frats & user St AT
(a) T¥a fdm fox 3 o) &z fonest B3 2
() Hg<T @ oIS
Steel Authority of India limited has which form of organisation
(a) Statutory Corporation - (b) Departmental undertaking .
(¢) Government Company (d) Multinational Corporation
I3 RIS nEaet fenfes fam yara <t ARer 3
(a) Ffeusa IPUIHS | (b) fesu Gar
(c) At AuSt (d) TITHI TIUIRG
Which of the following is not part of General Insurance ? _
(a) Marine Insurance _ (b) Fidelity Insurance
(¢) Fire Insurance | 7 (@) Life Insurance
Jot fefanr fog” fafozr Aargs &R & fdmr &t 3 ¢ |
@ e & T
() wewEtEher (@ Fesdhe

~ Which of the following is not covered under the contract of indemnity ? .
(a) Life Insurance ' ~ (b) Fire Insurance
(c) Marine Insurance | (d) All of the above
Jat fefsnr &5 faosr gomsr yodt @ dedae R aeaadt gor d
(@) wies dhr (b)  amAT HHr
(© e @ Sz A
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3s.

36.

37.

38.

39,

Whicli of the following alone can ensure effective ethics programme in a business enterprise 7

(a) Replication of code (b) Involvement of employees
(c) Establishment of compliance (d) None of these
2 GoH 29 3o fifani RS frawr oot Ot ygremelt st e § vt m Fier 3
(a) I3 T 5B A - (b) BN T Sttt
(©) TIHHEIET S REnET @) foost R &t =t
Legal cost incurred in case of disputed land and building 1s classified as:
(a) Operating acﬁvity ~ (b) Investing activity
(c) Financing activity (d) All of the above
w3 T s w3 RfEa @ b e St T mas § Ao A 3
@) ot asfedt (b) fora a=fedt |
| (¢) =3t afifedt . () BudEs A
Average cost method of inventory valuation is suitable when there are
(a) Fall inprices = o (b) Rise in prices
(c) Fluctuation in prices -(d) None of the above
- TR A U® foouras & ving a3 fedt ¥t @ I
(a) st uedmidgs 00 (b)) o s
(c) oftvzr e Qara-gamr der d @ feost &9 agt &t
A very important coiliponent of 'm'énagement accounting is
(a) Financial Accdun_ting - (b) - Contract Accounting
(c) Cost Acoounﬁng | (d) None of these .
yius Burardt @ R 53 Hageyes v - -
(a) Tt St | (b) eI Buadt
(©) @SS | @ foust 23 3t &t
Stock is : . |
(a)  Included in the category of fixed assets (b) Part of current assets
(©) Intangible @ Tangible
AgS J | -
(@) i vt & 3 g whis dor X (b)) T ARt o R ger D
(c) n3fsx @ 3fs=
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40.

41.

42,

43.

45.

Identify the item that is not taken into account in computing the current ratio:

(a) Land (b) Bills recoverable (c)

Cash @ Bank

8r e &t ugE F3-fradt fa 9% nigurs f a5 F95 AR fanrs R a3 ddt wit

(@ s ®) R GI S ()

anm @ ¥

Which factors influence ethical behaviour in business ?

(a) Public disclosure ~(b) Pressure from top executives
(¢) Inspiration from leaders (d) All of the above

Ao ¥ fmge o3 Wygres qR T 7

(a) RIS MIHAETS | (b) &9 nfuxcint 3B eam
(c) 33 IH YIT (d Eudas A '
Which of the following is part of capital structure ? |
(@ Equity Capital (b) Preference share capital
(c) Debt capital (d) All of the above

It fefont 25 o Yt e o R D 7

(2) feafedt get | ®) Y= o et

() Sfeeyd @) Budas A

Capital budgeting can be used for the purpose of -

(a) Machinery (b) Goodwill _

(¢) Raw materials (d) Land and Building

Sfies sféa o yGiar for €9 set dizr ar R 3

(a) st _ (b) AN ' _

() TG'HS - (d) s ni3 feres
Dividend is the portion of

(a) Current Assets of the company -(b). Debt

(¢) Assets of the company (d) Profit

werin fIrr 3 | '

(a) B o I% Austort & ®) fEe

() JWBtetRuSte @ w3

360 method relates to

(a) Performance appraisal (b) Organization climate

(c)  Employer’s morale (d) Retrenchment

360 fedt AfU3 I

(a) YEFS HEES &% () #FEr 2 Wils 7%

(©) _m%uﬁmm (d) u3foni &t 23t 5%
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46.

47.

43.

49.

Which is the determinant of Cépital structure ?

(@), ‘Government policy
(¢) Tax

U+t g9 o fsgquga = 3
(@) Pt A

© @™

Environment Protection Act is applicable to

(@) Private sector enterprises
(c) Both(a)and (b)

IS Hafer viae & ger J
(a) fout 839 @‘a-r Y]

© @3 @) T

A theory is

(a) An assumption
(c) A hypothesis
¥ fratz 2

®)
@

(b)
(d)

®)

@

(b)

(@

(b)
@

(b)

@

Control

‘Requirement of investors

fovizax
fanmat &t Ages

Public sector enterprises

None of these h

“An ‘if-then’ proposition
A validated hypothesis

Ea yriss ufsamus

In drawing a farmers supply curve for a Commodity all but which one of the following are

kept constant
(@) Technology
(b) Price of inputs

{c) Features of nature such as climate and weather -

(d) The price of the commodlty under consideration

ﬁamaﬂﬁamﬁuﬁma@@zﬂﬁwmﬁqﬁ@anﬁam

Her 3
(a) SA&BH
®) natE IS §

(c) TTI3 it fepmset iR ey miz AW

(d) feurs ot 2Rz & s
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50.

51.

52.

53.

If the income elasticity of demand is greater than 1, the commodity is

(@) A necessity | () A luxury
(c) Aninferior good (d A non related good &
g e @ rmEs s9x 1 I E0 Y, @Az O
@ fRage | (b) Tt femr
(o) B uwdnr =3 (d) fFa d< Aduz @Az

If the amount of commodity purchased remains unchanged when the price of another
commodity changes, the cross elasticity of demand between them is:

(a) Negative (b} Positive (c) Zero d 1

mmwﬁamammmawmmamm
Jet 9, @wﬁmnaré’rms’rm%

() faz=a (b) TIIHI (¢) Theg @ 1

If MRS, for individual A exceed the MRS, for B, it is possible- for individual A to gain
by giving up

(a) Xinexchange of more Y from B

(b) Y in exchange for more X from B

(c) EitherXorY ‘ _

(d) -We cannot say without additional information

A9 feniadt A BT MRSxy foniast B & MRSyy 3 30 D, ﬁmaérAsérfsﬂ'e*%wa |
FI FF YU IF& A< J

(a) BaS wite Y ¢ 58 X (b) BIaF Mt X2 aeBY

() #XAY \ (d) Y At 3 fast 53 afo meR
Consider the following types of income

1.  Personal Income 2.  Disposable Income

3. Private Income , L 4.  National Income

The correct sequence in descending order of their magnitude is

(@ 4,2,1,3 b 4,2,3,1 (© 2,4,3,1 @ 2,4,1,3
1, fondlas nies 2. HITEA MTHTS
3. f&t nmes 4. THSH MHES
@@ 4,2,1,3 ) 4,2,3,1 © 2,4,3,1 (d).2,4,_1,3
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5S.

56.

57.

The burden of a tax on monopoly profit will be:

(a) Entirely on the product

(b) Entirely on the consumer

(c) Equally distributed among the producer and the consumer
(d) More on the consumer than the producer

Exfaed %3 €3 qq o F9 I ¢

@ Yt 3geng 3

) udt 39t Queamr ‘3

(c) B3uwa n3 QuseT fegars gage S 3

@ E3uex &% Gusas ‘Y g

1dentify the items which are not as opening expenses:

(a) Loss on sale of motor car (b) General management salaries
(¢) Depreciation of office equipments (d) Advertising expenses
. HEt & ufgez a9 R/ gPrst e &It 95
(@) Heg gt @ feadt €3 ot (b) AUs YHUB IEHTT
(c) TE3II AW IS & fuRee (d) Yo ygy

A primary reason why nations conduct intematioﬁal trade is because:

(@) Some nations prefer to produce one thing while others produce other things.
(b) Resources are not equally distributed among all trading partneri

(¢) Trade enhances opportunities to accumulate profits.

(d) Interest rates are not identical in all trading nations.

& Yy 95, ITHST MiZIIRET U A 9w Is, faSfx

'(a) oI IHCY f¥q TRz o 83ues a9 § Hase fiR o5, ﬂ?—."f‘EIE'ﬂ%ET-ﬂbFWET

E3uws a9 I5
(b) A U Rfagwait f&F AR ANTS &t 23 Je
(c) =u3 &3 nIfA3 96 ¢ Ha U@er
(d) =u9 T A 2w 9 fenra w9t AN &dt I8

Relative to Countries with low ratios of exports to GDP, Countries having high exports to

GDP ratios are _____ vulnerable to changes in world market.

(a) Less (b) More (c) Equally (d) Anyoftheabove
f&gwrst 3 GDP 2 ufal Wgu3 @ ¥\t ¥ Hored fs9ers 3 GDP y<3 = Gar 3R 95 |
@ ue () nife () FHS @) Susaz &
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58.

59.

61.

62,

Contradiction to Hecksher-Ohlin theory is | o ot

(@) Smith Paradox " (b) LeontiefParadox =~ '
(c) Armow’s Paradox (@ Veblen Paradox o
Yoma-Gfofes oS wdss d | |
@) A fedasm ®)  foGafes fedusm
() ¥ = fJuem d) 2ums feduem

Let elasticity of demand for exports for a certain country be ¢, and elasticity of demand for
imports be e, Assume that the country devalues its currency. Its balance of payment will
certainly show an 1mprovement if :

(@ e=en=1 ®) extem>1 (€) etem<l (d) ex¥em=l
Hﬁa@faﬁén%ﬁsam@ae?wme,an@mm?mm%aims@éﬁ
WS HET O nReE JaTT ), eRe Fas A3es e pur forfos Rar dee

(@ &=em=1 ®) eten>1 (c;) e+ em<1 l_(d_)' éx+e..,:'=1

If prices rise, the direct real burden of public debt will:

(a) also increase o - (b) fall

(¢) remain unchanged (d) be uncertain
g StHat Toent 95, mﬁzwqﬁumma@aﬂ
@ Cor | | (b) vRar
(¢ AfegFar @) mfsAfIs 3w

For a monopolist price is 16 and marginal revenue is 4, the elasticity of démaﬁdrwi}ll Bc

(a) 43 (b) 3/4 © 4 @ 14

Barfierdt otz 16 3 3 Finis nmies 4 3, Vi < soa It -
(a) 473 ® 34 (c) 4 ) 1./45

A perfectly competitive firm faces Profit = ¥ 4 and Total Cost = Q® - 7Q% + 12Q + 5 where

Qs the quantity sold. The profit earned when 4 units of quantity are sold is:

(@  T10 b) T 11 o) T2 @ T 24

1 Y35 HarEsT @9H § &3 ey I 4 gu niR 38 FaE Q1 - 1Q +12Q+5 , 8 Q
¥ ot vrsTr AT 4 TFgn Tt ARt T T EB Y 1

@- 103w ® 113 © 203% @) 24 quE -
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. The short run supply curve of the perfectly competitive firm is given by:
(a) The rising portion of its MC curve over and above the shut-down point
(b) The rising portion of its MC curve over and above the break-even point.

(c) The rising portion of its MC curve over and above the AC curve

(d) Therising portion of its MC curve

wwmﬁmy@@aﬁ?ﬁ%:
(@ feret MC dam @ 02 R w3 e 5185 iy 3 6w
@) fort MC 3@ 2 302 fR »3 ¥ &ies fiy ¥ Qe
(©) Rt MC %39 2 202 fft w3 AC %@ ¥ 8uT

@ feredt MC ¥39 3 8w

If the demand curve for a monopolist’s commo;iity are identical in two separate markets,
then by practising third degree price discrimination the monopolist:

(a) Will increase TR and Total profits
(b) Canincrease TR and Total profits
(c) Cannotincrease TR and Total Profits

(d) Wwill chargeédiﬁ'ermt price in different markets |
Aeg Borflardt TRz € Hat T9a @ Fu-Ad B9t 9 NS D 3F RS TR o i e

®ar & genfuardt

(@ TR 3 I® B'g TR ®)
(9 TR n3 I &3 5t 70 Aerer @
When TP falls :

(@) The AP, is zero {b)
(c) The AP, . is negative . @)
e TP ule=h y:

(@  APuno 2T 9 | ®)
(©)  APpbour ITIHI I (@)

All the following curves are U shaped except

(@) TheAVCcurve (b) The AFC curve (c)
Jot &3 A T U wiad 35, fong s
@ AVCT® () AFCTI ©

.

TR %3 &% &5 T A’ J
éu—éuw?ﬁaéu—éumm

The MP, .  is zero.

The AP, _is declining

MPiabor HET
AthﬂZé'a'

The AC curve

AC Tdd

(d) The MC curve

() MCeag
Paper-11 (Commerce)



67.

69.

- 70.

An entrepreneur running a business takes out ¥ 20,000 year as ‘salary from: the total
receipts of the firm. The implicit cost of this entrepreneur is:

(a) ¢ _20,000 year ' (b) More than ¥ 20,000 year . i

"~ (¢) Less than ¥ 20,000 year ' (d) Any of the above is possible"’g

féa@eﬁmémdaw@wﬁézom/-m ‘IeYgtE 37 ‘I e Y | Bt
o fsfas sz 9 -

(a) 20,000 UZ AT (b) 20,00_0%3#:1
(¢) 20,000 JuUT FEw 3 Ui (@) Gudaz gz d Age

If MU of the last unit of X consumed is twice the MU of the last unit of Y consumed; the
consumer is in equilibrium only if -

(@) The price of X is twice the price of Y
() The price of X is equal to the price of Y
(c) The price of X is half the price of Y

(d) . Any of the above is possible

Heg X € nitfed feaet @ Qudar & MU wA3 Y & Afan feardt @ Qusar & SgFt 9
ugars Aigss R 3 a9

(@ X<tz Y & vz T Saret ®) XIdIhSYddza9=wgd
(¢ X T WY & oz @ nfdt (d) Buda3 gs & Hee &t
Sales of fixed assets to fdreigners is:

(a) | Export.of goods (B) Unrequired receipts

(c) Capital receipts | (d)  None of the above

i fednlt 4 Afte A R 28 D | |

@ g e fagus () FBAETr Yyt

(©) UvieE yuSha , (d) Gudas =t adt

The law of reciprocél demand is associated with

(a) Alfred Marshall (b) J.S.Mill

(c) David Ricardo (d) = None of the abdve

e i fm RS 3 |

(@) NBITS HIRS 5 () A9 S S

(c) 3fs foas &5 (@) Eudas gt adt
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72.

73.

75.

76.

'IMF deals with

(a) Developmental finance (b) Managing balance of payment

(c) FreeTrade (d) Maintain of peace among nations
IMF fega a9 3 | | '

(a) femAdU Rzas (b) IR KIS YHU &F

(c) AI3I I (@)  IEST feoars mtdt arfer Juz &%
Budgetary deficit does not take into account:

(a) Revenue deficit | (b) Capital budget deficit

(c¢) Balance of payment deficit (d) lntérest paymeﬁt on publ‘i_c' debt
oie ue Re feo mfim 53t Jov 9 ¢ :

(@) WITHES wier (b) Yiters ane wrer

(c) TI=& HISS W (d) FIeEHR &3 fuz 3 fourm s
Keynesians favour

(a) Fiscal policy _ (b) Monetary policy (¢) Credit policy (d) Income policy

@ TERAR ) MEAR  © At (@ wmesdst

‘Sensitive Sector’ as defined by Rl include : :
(a) Capital market (b) Real estate (¢) Commodities (d) All of the above
RI o yaifis ‘Aieerts dse e mie Y : -
(@) Yt =TS @ "Rt () TP @ SuEs A
Which of the following is termed as Money Multiplier =
(a) RatioofM,toM, (b) Ratio of M; to M,
(c) Ratio of M, to M, | (d) Ratio of My to M,
It fafanit 9 fang vea g 2 39 3 o wer 3 -
@ M,3M,e weus ® M, ¥ M, " nizurz
(€ M, 3 M,T nmgu3 @ M,3 M, T nEus
Which of the following is the most volatile flow of foreign exchange ?
(a) Foreign direct investment (b) External assistance
(c) Foreign Institutional Investors (d) External commercial borrowings
It fefaut fog fagsr feant eciey o Fg T Ju ufgedsams yea 9 :
(a) Y feert f5Rm | (b) =TI RfaGar
(c) feorht Amgas faem @) T 2y Qo
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78.

7.

81.

Which of the rate is not determined by RBI ? e
(a)  Bankrate (b) CRR (c) SLR - (d) PLR

Vﬁas‘reawﬁmmkmgmrafaﬁ}aﬂs*w%x ' S

(a) aaea () CRR (¢} SLR (d PIR

What is ‘Green Banking’ ? _
(@) Bank financing on pro environment projects

(b) Bank financing to agriculture

(¢) Bank financing to irrigation

(d) All bank financing to farmers

‘Is sty 2
@ YW REc @3RN O YaiR s RER
() ¥afiodt st Rzl o ) Fedufarsifisféeas
RuPay’ is ‘
“(a) New Currency of RBI. | (b) Card Payment Network
(¢} New name of credit cards of bank (d) Credit card to farmers
T - | |
(a) RBIS & a9m - (b) IS IS BTTIA
(c) ¥ ¥ Jfse 93 oot I - (d) fare o 3fse e
Which of the following is not helpful in controlling money supply ?
(a) Free market policy (b) CRR
(c) Bankrate (d) Change in margin requirements
It fRifant 23 forow wewr & yodt § fdsmo =os Re mofe st 9 7
(@ §339 g9 At () CRR
@ ¥ - () Fhiz gest fe ufseess

An empirical study on relatlonslnp between the rate of money mcrease and rate of
unemployment in the economy was given by .

(@) A.W.Phillips b .M Keynw
(¢) R.F.Kahn (d) Emst Engel.

maa&emﬁawa&éean@ﬁmﬁﬁeaﬁaawﬁﬁa‘%feaqmﬁum
fe3r fomr At

(a) saHL. %ﬁwm () T a?rrrgmar
(©) 3. WE FTB T (d) WEEAZ WS o
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82 -

8s.

87- -

In Nominal GDP is equal to real GDP, then |
(a) The GDP deflator is equal to zero (b) The GDP deflator i equal to one

(c) The GDP deflator is less than one (d) None of the above -

#oQ S1fHes GDP »iRG GDP R 8999 9, feg -

(a) GDP fsc@cs flgg @ 5w d = (b) GDP%E@ZH_@IWEB’%

© oDPfsEdcafem¥ued 0 (@) SQWmsdsr
Inflationary gap measures the excess of aggregate expendituie over the aggregate supply:
(a) Before full employment (b) Atfull employment s

(c) Beyond full employment | (d) Both(ayand ) -

HETHESISA Wi3T g8 Hdl ¥ & YISt 3 &0 o WY JeT O

(@) Y9 TS 3 ufost () YBT3

(c)  YIE S 3 ImE = @ @™ O

In Cobb-Douglas production function the elasticity of substitution between factors - .+ - .=
(@ Zero . (b) Equal toone -

(c) Greaterthanone . . ; (d).. Less thanone
SIa-5a%H §3UEs @6 feg, st fegarg yfsmas &9 &

(a) fheg L (b) fE 2 g

© faFxHm- . - (@ faIFue

A fall in the price of X from ¥ 12 to T 8 causes an increase in the quantity of Y. demanded -
from 900 to 1100 units, X and Y are: | ,

(a) Compllments (b) Norma] goods (¢) Substitutes (d) Inferior goods

xeﬂaéraﬁvslzauéaﬂzasauéaemYm?rHaTérm%of‘ea@wa
203 1100 gt A Y | X 0B Y T

@ Y5 ®b) FOdS S (o) yEhEnw (@) wdbr enst
A honzontal supply curve indicates an elasticity of supply that equals
(@) Zero . (b) Infinity’ - - (c) One @ -t

(a) frew () nd3 (© f= @ -1

Taxes which levied entirely on the basis of the moﬁey value of the goods are:.

(a) Specifictaxes (b) Advalorem taxes(c) Income tax (d) - Excise duty

3 frg3 fx ues 39 3.eRg 2 Hefea ¥6 ¥ g 3 B2 7R 76 |

@ fefimes@ - () MBWIHaET () mHEsa9 (4 werEw 5
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88. The administrative aspect of a tax are : : :
(a) Canons of taxation (b) Principles of taxation
(¢} Characteristics of taxation (d} Concepts of taxation
f&x 59 o yduat Uy 3 |
(ay T T HI ' (b) Fous 2 faois
(c) TITS it feRmzT=t (d) TS Tt argaTE
89. Expenditure tax was imposed in 1958 on the recommendations of :
(a) Adam Smith (b) H Dalton
(c) ProfKaldor (d) ProfPigon
1958 39 yaw & fenet frerfom 3 marfenr famr it
(@ sH RfHE ®) 79, 3T
© Yo a®3] : @ Tefums
90. In both the Chamberlin and the Kinked Demand Curve models, the Oligopolists:
(a) Reodgniz&s their interdependence (b) Do not collude
(¢) Tend to keep prices constant (d) All of the above
(8 »uF WiZIfETBT s SR TE (b)) IS AT TS
() IStAfERegd R as = (@) S A
91. When the perfectly competitive firm and industry are both in long run equilibrium ?
(@ P=MR=SMC=LMC (b) P=MR=SAC=LAC
(¢} P=MR =Lowest point on LAC curve (d) All of the above
YIS HITEST TIH i3 Getiar €2 Slow a® Agss St Afast g a8 Je o ¢
(® P=MR=SMC=LMC (b) P=MR=SAC=LAC
() P=MR-LACTW T f@amifig (0) BuSsEAJ
92. When a = 3/4 and § = 1/4 for the Cobb-Douglas production function, returns to scale are :
(a) Constant , (b) Increasing
(¢) Decreasing (d) First increasing then decreasing
IE-BIGH GIUTE T8 BET 7 0 = 3/4 03 B = 1/4, W3 R yfsew Is:
(@) Afas ) Fue
(c) ufeR @) ufowt Joe feg ufee
93. The LAC curve is tangent to the lowest point on the SAC curve when LAC curve is falling
(@) Always (b) Never (c) Sometimes (d) Cannot say
LAC a9 SAC &) ‘3 fs@a3m fifg T muan aoet 3 /e LAC we ot 3t 3
(a) IAET (b) e & (c) Tt (d) oo 53 7 Aaer
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Kinked demand curve is related with

(a) Monopoly ‘ (b). Discriminating monopoly
(c) Oligopoly ~ : (d) Perfect Competition
flers ¥a g AEU3 I : T :
(a) TATUAT &5 (b) 3y BfEg &5
() Ui &% (d) Y95 WIS 55
Who is the custodian of monetary reserves in India ? |
(a) SBI .(b) SIDBI (¢) NABARD (d) RBI
93 & Hefe Sea o Ifima ST 3 ¢ ‘
(8 SBI (b) SIDBI (¢ NABARD  (d) RBI
Balance of invisible includes _
(a) Export of services (b) Import of services
(c) Both(a)and (b) (d) None of these
wifes Agss e Aiis 38 36
(a) Ao © foaor3 (b) A== T o3
© ¥ (@30 (d) Sudaz At &t
Which of the following is not an instrument of monetary policy ?
(a) Deficit financing (b) Statufory liquidity ratio
(c) Cash Reserve Ratio (d) Open market operation
Jot fefont &S faog efaa SiFt o Ao adt & 7
@ e fe3 feemer (b) Aege TR nEr3
(¢) 3am fowss nisurs (d) YSnt garg fafanret
The Gold Standard exchange system prevailed in '
(a) Between 1860 and 1910 (b) Between 1910 and 1939
(¢) Between 1880and 1940 (d) Between 1914 and 1939
%8 A58 Mo H YISt yos3 At - '
(a) 1860731910 fegarg ®) 1910 »31939 feoad
(©) 188031940 fegars (d) 1914 n31939 fegag

.. Multiple stratified random sampling is
(a) Probability sampling (b) Selective sampling
(c) Non probability sampling (d) None of the above
WSS AeTEts e Arufa 3 -
(@) yafafsdt Rufdar (b) R3afer Rufda
(©) de-yafafedt Aufda @ Suda=z It &t
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-100. If the sample size increases the sampiin_g error

(a) Decreases (b) Increases N

() Remains constant ~ (d) Noneof the above ' "’d

ﬁaaﬁmméue*%s*ﬁmzaé’r | | o S

(a) ule=t?d (b) Tt | e

(c) wiEg IfFEt - @ SuIas st adt
101. F-test is used to test the significance of the difference between/ among .

(a) Two sample mean (b) More than two sample mean

(¢c) Variable of two sample (d) (b)and (c) A

F-%ﬂzvqmmfsawﬁeaﬁnmérmmaéﬂzmwaﬂ?wa

(@ s oS () ©FIWHUS DS

(© IMmw @ GWER
102. Which of the following are the characteristics of a data , |

(a) Aggregate of fact N (b) Numerical expression .

(¢c) Affected by varying cause (d) All of the above

o fofamit 39" faast wiafmi € felmar 3 | .

(a) It T HESS (b) A3 mifsfentvar

(©) SIS oo yIes | (d) Gudas A
103. Chi-square test is expressed as

@ ® x © ¥ @ r’

E AT 2R TOATTEnT Aer 3 .

) L ond ®) XA © yeows - @ x’w

104. Co-efficient of correlatives will always be

(@) Morethan0 (b) More than -1 .

(¢) Lessthan-1 (d) Between -1 and +1

(@ 03 % b -1¥d7W (¢ -1Fue (d) -1mé+11%aava
105. Which of the following are not the limitations of statistics ? |

(a) Homogeneous statistical data

(b) Analysis of data

(c) Presentation of means

(d) Statistics are true in the long run and on average

o5t ffomit " forodt Aftewe & A & 3 7

@ ™Y ARmE A () st © ferdns

(c) MRS T yTIHS (d) il dow a5 9 iRss AT & Y
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~ 106. Which of the following is/are the characterstics of Karl Pearson’s coefficient of co relation

101.

(a) indication of degree ‘ (b) Indicators of the direction
{c) Satisfactory measure (d) All of the above

- Jat [famit ¥° faost avas Uinmrs Afoidn greia & feRmsr 3
() faardt = A3 x ) femeRas
© Fmmwy @ SR AY
T-testisa . o | - -
(a) Parametric test = (b) Non parametnc test
(¢) Large sample test _ _ (d). None of the above
T2med o - |
@) f¥x daniefsa 2ne . @) ¥ 39- denfefsw 2Rz
() fershusdme @ GuFas Zt st
Data collected from the published books are called |

108.

109.

110,

111

(a) Primarydata (b) Secondary data (c) Tertiarydata (d) None ofthe above
(a) ﬂe%rﬁa% “(b) Jeda © A () GuIwE A

Data integrity refers to the

(8 Simplicity of data - | (b) Privacy of data

(c) Validity of data _ (d) Security of data

vafsnt Stopds Faed :

(a) vidfanitdtmemyr 000 (b) riafami &t famsr

© datardtor (@) et d mfer

As the value of x increases and the value ofy decreases, then the coefﬁclent of correlation

will be .
(a) Posmve (b) Negative ' (c) - Zero. (d) No_ne of the above
xTis I IS y o s e d, sty AT e geim Rar '

@ T ®) frae © fe @) SEssadasd

Which average would be suitable to find the average size of readymade gaxments ?

(a) Mean -(b) Mode {(c) Medlan_ ' (d) Arithmetic mean

@ "8 6 R () Hew (@) v o
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132. Which average would be suitable when quantities of variable are in ratios:

(a) Mean (b) Mode (c) Median (d) None of these
e € g9t & WS mipurs fEe J€t 3 3t faadt iR Quuers 3R
(@) Yo (b) =T © W () o At
113. Median can be calculated from :
() Individual series (b) Discrete series
(c) Continuous series _ (d) All of the above
Hitmiar &t e sfist v Feet 9
(a) formaftas &t T () sz sH T
) fedzasdta (&) Budaz AN
114. From which formula mode can be calculated
(a) 2 median - 3 mean (b) 3 median - 2 mean
{¢) 3 median - 2 median : (d) 2 mean- 2 median
TR O AT 1A TOHS et et 7 Felet 3 |
(a) 2 Hfowar -3 HOH'S (b) 3 Hftmier -2 Hors
(¢) 2 Hftmmr- 3 Hitear (d) 2 ¥us -2 Hftmar
115. Semi interquartile range is also known as : _
(a) Mean deviation (b) Standard deviation
(¢) Quartile deviation (d) Quartile range .
Mt izgugena feras & feg &t faor Aier 3
(a) Wu feoss ' b) Yy fegms
(c) U3 feums (d) U3 femmg
116. Which of the following is the characteristic of index number ?
(a) Expressed in percentage (b) Comparative measurement
(¢) Measure of changes : (d) All of the above
Jot fefami f&T° faast goa iat < felmzT 3
(@ yStas o vamet At ? (b) IHEIHA W
© TEEE WY ' @) s A
117. The synonymous of consumer price index is : _ o
(a) Weighted index (b) Welfare index
(¢) <Cost of living index (d) None of the above
BuZrsT SIS HER WAt € AHGTIET J _
(@) 93§ el (b) AT FR ni
(¢ s FaE Fa v @) Sudz3 et &t
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118, Ifthe tﬁro regression co efficient are 0.8 and 0.2, then the value of coefficient of correlation is :

(a) +0.16 (b) -0.40 © -0.16 (d +0.40
g & YIS FOR vidt 0.8 w3 0.2 Tx, QInt 2 AfT Ay ¥ gt o Hvy Y-

(a +0.16 | ) -040 (c): - 0.16 (d +0.40

119. Which of the following is not a measure of dispersion ?

(a) Skewness (b) Mean deviation
(c) Standard deviation (d) Quartile deviation
It fifamit 129" fogs ymrg & wy &t 3 ¢ -
(a) 332Uz o Hy | (b) u feoms
() Yy feums B (d) 939 femmr | v
120. Which average is better for the construction of index numbers out of the following
(a) Arithmeticmean ' - (b) Geometric mean
(c) Median | ~ (d) Both(a)and (c)
Fos et & fsmie o2t It it 2 farast v s 3 9
(a) i afsst vous ) Hw afsst Haws
() Mt - @ @@
121. Which price index formula is considered ideal among the following
(a) Paasche’s priceindex - .(b) Dorbish-bowley price index
(¢) Fisher’s price index (d) None of the above
JI&t fefamit R foraar shvs Foat i e niveam Hifonr mier 3 ¢
(a) UHD T ST gEA nid - (b) Sufor-83 v i3 me i
(©) fer T vz g i (@) B3 I &t
122. Which of the following is the relative measure of the skewness ?
(a) Mean — median ; ‘ (b) Mean—mode .
©) Q3+Ql-2MD | ) Mean— mode/S.D.
It fefantt RS faoz faawz o iy Wy 3 ¢
(a) o - ifmer (®) o - wgea
(© Q3+Ql-2MD (d) WoHs —Sgsa/ S.D. |
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123.

124.

125.

126.

Which of the following does not characterize business activity ?

(@) Production of goods and serwws

(b) Presence of risk

(c) Sale and exchange of goods and services

(d) Salary or wages
wm%mmmamwm T

(2) =it v Prevet @ @aures ®) W& Je
(c) THznft ni Aot & 39 03 TR (d) I A HAES

PSE’s are organizations owned by : : -

(a) Joint Hindu Family - (b) Government

(¢) Foreign Company ‘ (d) Private Entrepreneur |

PSE ARaret 75 # wiftarfas Jenr T -

(@ uas fig ufses o @) FESENT

(c) fent Qust e | (@) & ol o

The minimum number of members required for registration of a co-operatnve society are:

(a) Two (b) - Seven ~ (¢) Ten (d) Twenty
nﬁa@mﬁaémmaﬂsﬁaé\%méﬂz-ﬂam%

@wE ®mw @ W @ ¥

A public limited company can start business after
(a) Incorporation " '
(b) After promotion

_(c) Afier registration -

(d) After certificate of commencement of business

¥ uafes fmifes sudt e Bg 79 AaEt 9 |
(a) HAEUS 3 EmiE () T T amE |
(¢) IfHAREs 3 EmE (d) TAE nig8 TI5 ¥ YWE UIT I IR

127.

Which of the following types of business organizations has a ‘separate legal entity” ?

(a) Joint Hindu Family Business (b) Partnership

(¢) JointStock Company (d) None of the Above
W%ﬁnﬂﬁ?ﬁaﬁﬁmﬁmmém&ammwa
(@) Fuas fJg ufees =us () ISNI

(¢ Tz rea @t | @ Gudas =t &t
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128.

129.

130.

131.

132.

133.

Registration is not essential in case of

[N

(a) Company (b) Co-operative organization

(c) Co-operative society (d) Business of Hindu Undivided Family
(@) St 2w (b) Aft fner oet |

@ FEdimEdar @) W Pyueeam et

In a private company, there are r&etnctlons regardmg |

(@) Transfer of shares (b) Issue of prospectus

(c) Number of members (d) All of the above

i Ytz st oo for A Aot Jotoit om:

(a) MRt IRsizeE () YFIIeH #dt a9a

(c) Nust & Afimr (d) €uda3 A9

The maximum number of mefnbeni of a Private company under The Companies Act 2013,
has been changed from 50 to :

@ 75 (b) 100 (c) 125 (@ 200
au?ﬁﬂ:aazzols mﬁmﬁmmsoamaam%
(@ 75 . (b). 100 L (© 125 @ 200

A co-operative society is required to be registered under the Co-operative Socities Act

(@ 1932 (b) 1952 - (c) 1956 - C(d). 1912

fea rfoarst Arfedt & a-nmifee ARfedta Miae ___ nidls IfaRes 3= & 83 3!
(@ 1932 (b) - 1952 () 1956 @ 1912

Which of the following cannot be classified as objectives of business ? _
(a) Investment  (b) Productivity () Profit-eaming (d) Innovation
ot fiifanr (39 oA o eadlidEs suv R B e ST It T A 9 7

@ fRm . () S3uwEs ) FFaHRE = () T3S
Which of these is not included as a separate item in ﬂ1e basic accounting equation ?

(a) Assets : - ' (b) Revenues .
(¢) Liabilities© = = (d) Stock-holders® equity |
Mmmﬁgﬁwﬁﬁﬁﬂééﬁméﬁ ‘I a9t o3 AT ¢
(2) Frmf N (b) nrHes '
(¢) JFIgmt - (d m*a—amérﬁarf‘eér

27 : Paper-ll (Commerce)




134. The accrual basis of accounting records re‘venués when they are:

(a) Collected (b) Eamed
() Contracted () Readily available for use -
Buias o T T S THUS nve foares e 3 7 69 -
(a) TEaSh dtZinit A 5 (b) THTM AR T8
(© Fafes ddr A a5 @) T = Quwsd JEnit a5
135. The unfavourable balance of P & L account should be:
(a) Added in Liabilities (b) Subtracted from Current Assets
(c) Subtracted from Capital (d) Subtracted from Liabilities
P »3 L 38 2 yfsgs Agss dT oder J ¢
@ vsedmtfmmie ®) TS RE R et
(©) Urit RS wergE | (@) Sudes AR
136. Which type of Expenses are paid out of gross Profit ?
(a)  General expenses | ' (b) Financed Expenses
(c) Selling expenses (@ Al of the above
% &3 &5 fan yoa ¥ vafontt T gaRB T AT I ¢
(1 FOSSYSS b RAuR
¢y feodtusm o (d) 8udaz Ara

137. Sale of goods to Taman is wrongly debited to Daman’s account. Both are debtors of
business. This is an example of:

(a) Error of Omission (b) Errorof Cominission
(¢) Error of Principle ' * (d) Error of Original Entry

mawé@ﬁa&ﬁmm%u@ﬁaﬁﬂn@m é%rﬂm%éﬁ'm
amfeaf‘éa@m%r

(a) wiEfaodst & 3t & (b) i 2 332 &t
(c) fraz & 3gi & (@ ¥ifsx feegw & 3get &
138. The process of allocating the cost of an intangible asset over its useful life is called:
(a) Depletion‘ (b) Impairment (c) Depreciation (d) Amortization
&z m3fsa Audt @ Quuigh fies & a3 fsauaras sms o yfxfonr st 3
(@) ud FTH ) fers () HHur (d) TH THE FuT
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139. Whlch of the followmg item will not appear in the cash-flow from operatmg activities
section when using director method ?

(a) Payment of Suppliers (b) Payment of Employees

{(¢) Netlncome (d) Collection from Customers
mﬁﬁ?wa@mm@ﬁammﬁawfeﬁwﬁvﬁmﬁw
&I gt 7

(@) YISt & FJ=E , (b) FTIHTIH T IS
(¢) HunmHEs (d T IH

140. What does EBITDA mean ?

' (a) Earnings Before Income-Tax, Depletion & Amortization
(b) Earnings Between Income-Tax, Depreciation & Amortization
(c) Eamings Before Income-Tax, Depreciation & Amortization
(d) Eamings Before Interest, Taxes, Depreciation & Amortization
EBITDA = &t nigg 3
(a) Earnings Before Income-Tax, Depletion & Amertization
(b) Eamnings Between Income-Tax, Depreciation & Amortization
(c) Earnings Before Income-Tax, Depreciation & Amortization
(d) Earnings Before Interest, Taxes, Depreciation & Amortization

141. How is Working- Capital calculated ?

(a) WC = Shareholders’ Equity & long-term debts — Fixed Assets
~ () WC =Fixed Assets — Current Assets '

{(c) 'WC = Shareholders’ Equity and Long-term debts + F:xed Assets
(d) WC = Fixed Assets + Current Assets
o83 Y+t &t o fae St At 3 7
(a) WC= maw»@mm Afag Austnrf
() WC = Afag Audn - T3 Ruzmt :
© WC = immdsss ot feafedt »2 dowardht foz + Aftrg Eht
(d WC = rfag Rusinit + 9% Aushat

142. How is interest-coverage ratio calculated ?-

{(a) Operating Income (before interest & income-tax)/ Interest expense
(b) Net Income/ Interest expense

(c) Shareholders’ Equity/ Interest expense

(d) Long term Debts/ Interest expense

Interest-coverage niGUS T dlEaT fae St Aigt & 7

(@) Yt niHEs (e M3 e &9 3 ufer)/fenr yIg

(b) Hu riiEs/fen yIg

(c) PmEdTsT & frafedt fomm v

(@) Towaw faz/fenm uso
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143. An Opportunity Costis:. . - .

(a)

(b)
(©)
(d)

The difference between the total-cost of one altematlve and total—post of another
alternative. o

e
The benefit foregonc when one alternative is selected rather than anothet .
A cost that is saved by not adopting a given alternative.

o
]

A cost that continues to be incurred even if there is no activity.

nEFS HA3 I

(a)
®)
©
(d)

¥z feamy € a8 TS »i3 TAI feamy © 35 &3 feaaa nizd. . .
mewmﬁmamm%m%mw%
w3 frodt fx A3 o oo § &7 niuer & FErET AT Y 0 e
mﬁaﬁﬁaﬁ%wwa&%érﬁﬁaaw@ﬁ% " -

144, . Using Marginal-costing method, ‘contribution’ is equal to sales revenue less;-

(a)
©

(a)
()

Direct Labour Costs 7 (b) Total costs N
YR g B ) arwsmar
UfoRaTeHts SaEt @ Ao wEt

14S. Shareholders’ wealth in a firm is represented by

[CY)
(b)
©
(d)

Number of people employed in a firm.

Book-value of a firm’s assets less the book-value of its hablhtlm :
The amount of salary paid to its employees. _
The market price per share of common stock. R

feat g9y &8 Aneurax ot Aust yess §&t 9 ¢

@
(b)
(©)
(@

<oH 39 33 3t &t fazst gnrar

T9H I Aushnit € ozl ¥ %ﬂ@ﬂiﬂwéﬂ'ﬁm%faaﬁmawa
fere TaHgTamit 3 it ot 3murg SF S gorer
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146. The long-term objective of financial management is to

(a)
©

Maximize earning per share _ (b) Maximize value of firm’s commion stock
Maximize ROl (d) Maximize rnalfket-share

{5t ydus o Slow T GRR T ¢

(a)
(<)

Y=t Anig Tt § wiftiersH JeE (b) TIH R AUGS A & K nifdesH o9
ROI & nifud3H I35 (d) fere swe-faR § wifta3H I
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147. Which of the followﬁng would be included in the Cash Budget ?

(a) Depreciation charges -~ (b) Dividends
(c¢) Goodwill (d) Patent amortization
Yot fefant f45 oo 3 B 1‘%3 AiE 33 7 -
(a) NS wer vy - (b) = ,
(c) A - | (&) T niftarg 3T
148. EOQis the order quantity that 5 —____over one planning period.
(a) Minimizes total ordering costs (b) Minimizes total carrying costs
(¢) Minimizes total inventory costs d) Muumlz&s the required safety stock

EOQ & g1 W3g 3 7 e Ginsrars &9%
(8) ABISI T § @ amdtd  (b) ﬁswﬁmaﬁs@mm%
© #&mnﬁmaﬁs@maﬁ% (@) IS et st § f58E3M aaet B

149. The term “Capital — Structure’ refers to
(a) Long-term debt, preferred stock and common stock equity
(b) Current assets and Liabilities '
(6) Total Assets — Liabilities
(d) Shareholders’ equity
E% “Capital Structure’ FEUS &
(a) <ouwasls foz, ufas ATTa w3 Aaos Aow feafest
®) TS At i3 Fzerding
(©) &5 Rudnit mI Fserdint
(d) M@ oS & feafedt
180. The dividend payout ratio is equal fo :
(a) The dividend yield plus the capital gains yield.
(b) Dividends per share divided by éaming per share.
(c) Dividends per share divided by par-value per share,
(d) Dividends per share divided by Current-Price per share.
BENH FASE MFUS TIEI Y ¢
(a) sEmiAagtdRew
) St Bnig e Enrg 31 Y3t Anig Srenil
(©) S AnF US HE e 31 Yt g Famin
@ yIt o TG o T aar It Anig EEvi
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